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Subtract More than 4 Digits

Subfract More than 4 Digits

5. Calculate the missing answer.

5b. Calculate the missing answer.

3.8 1 6 6 0 8 1
- 17 40 -2 9 3 5 7
W
éa. True or false? f:i True or false?
9 4 1 7 3 5 2 1 0 9
- 1.8 2 & -2 9 7 21
8 5 9 0 8 7 2 6 2 8

v

7a. Use <, > or = symbols fo complete the.
sublraction.

7b. Use <, > or = symbols o complete the
sublraction.

32,431

% 51,605-19,174

& 65,014-35,295

29,720

8a. Circle the correct answer for the.
subtraction.

8b. Circle the comect answer for the.
sublraction.

A.50,835

W

B.51,834 C.50,834

A.24084 B.25084 C.25094

i
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Subtract More than 4 Digits

Subiract More than 4 Digits

4a. Find the missing digits in the
subtraction.
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4b. Find the missing digits In the
subtraction.

olw
sl ©

2 7
| |3
3 4

[N

hrig

g

5a. Use the digit cards to complete the
subfraction.

5b. Use the digit cards fo complete the
sublraction.

7 1

4 3 5

- 9 2 1

1.0 3 9 6

2 9 7 5

g

| v

éa. Kai has used column method fo

6b. Leah has used column method o

‘answer the subtraction below. answer the subfraction below.
’//‘//'o 4 3 5'0 5 2 7
-1 08 4 2 -2 21 0 3
11 2 1 39 4 0 4

Is he correct? Explain why.

Is she correct? Explain why.
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Expected
5a.20,756

éa. False. The correct answer is 75,908.

7a. The answer is 32,431, 50 51,605 -
19,174 = 32,431
8a.C. 50,834

Expected
5b.16,724.

6b. False. The correct answer is 22,388,
7b. The answer is 29,719, 50 45,014 -
35,295 < 29,720,

8b.8.25,084
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Expected
4a.39.963 - 19,54]
Sa. 56,82
6a. Kai s incorrect. He has subfracted the
fens and ten thousands columns
incorrectly. The correct answer should be
21,201

Expected
4b. 48,527 - 24,193 = 24,334
5b.48,3 281 = 29,075

&b, Leah Isincorrect. She has subtracted
the fens and thousands columns
incorrectly. She has also forgotten to
change the §1o a 41n the fen thousands
column after exchanging. The correct
answer should be 28,424,
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